- aﬁnnﬁ‘mﬁﬁ
-.—.w a.wﬁrﬂm ;qﬁ:aamr

In W hu.h of the given years

of candidates sppeared from §

maximum percentage o_

candidates ! i 20088

(A) 2005 :
(C) 2001 (D) 2003

_ gfe +-* a7 W R, T Y
57 37e T B 3T ﬂﬂﬂm%

18x36-6+2+3=1
[f *—" stands for division, ‘+’ slands
muitm]nalmn ‘.+* stands for subtracti n

and *x* stands for addition, then
18 ’-ﬁ' G+2+3=17

(A) 12 (B) 8 (C) 3 (D) 18

- .ﬂﬂm@mﬁﬂlmﬁamaﬂ

Fad aredt AR @ SHH 8

H?Eﬂ et

C m-.qu[hc. Venn diagram v.hn.h best
explains relationship among the given
Human beings, Rats, Doctors

(A) f@ (B) ©O
© @ (D) OOO

.mmmﬁmﬁﬁﬁaﬁqﬁm

%1 A1 T4 @ A g1 WIETE d1e Hehd & |
Study the diagram and 1dent|fy the people
who can speak at least two languages.

37 / English

THN

(B) A+B+C

i b S T

22

TNTHVAL A

M
®) ()

(X)
(A) (4)

e e e e B,
12 o HE FH I FH Th
T G & | 98 T A i |
In the following question, one word 18
given, followed by four words, one of
which can be formed using the letters of
the given word. Find that word.
DETERMINATION
(A) TERMINATED
(B) DEVIATION
(C) NATIONAL
(D) DECLARATION

NI ST W U PTG TRV e, e, TR B BT AT pd e




W= 7 el b & Beln 5 a9
F= I & e im0

Outzrossed Expeediture

PP SHTTTE WA
e R 2
(A} = e ST
(B) wTETN wETTE
(C) FETETEE T WEUTE EEE
(D) i woTE .
Whick of the following pert is the largest
eantniner port of India 7
(A) New Mangalore Port
(B) Kandlz Port
{C)  Jawaharlal Nehrs Port
D) Kochi Fore
e 3 & fiem wem 3 s, AR
Fogwg A ¥ (922 # wwEEEm WEE
wfie o fem 7
(A} TR far
B} e T I e =T
(C) SremtarHy = AT
D) =i w2 y
Mohandae  Karamchand  Gandhi | called
off the Non-Co-operation Movement in
1922, due to which of the Tollowing
incident?
(A) Partition of Bengal
(B) Lala Lajpat Rai Lsthi Charge
Incident

(€] Jallianwela Bagh Masiacre
(D) Chauri-Chaura Incident

frefefam & 4 =9 @ w9 wiw
T R
(A) HrmE (B)

3
(©) wa (D) Hrweht

Which of the following crop is not a
kharif crop 7

(A) Sovabean (B} Wheat

(C)  Muize (B} Groundnut

AT T Y g sy

8——:-;.-. A

e WM, TR F T sy

(e T YT 3 8 P e o
E i 8

Ay = (B) muw

(C) wET (D) -

In Utir  Pradesh, the Governmen
Freedom  Struggle Musenm (Shaheed
Smarak) is established {n which of the
fallowing location 2

(A} Meesrut (B} Ganga Ghat
(€1 Mathura (D) Chauri-Chaurs

w9 W B R N A pvgAy &

w6 T 2003 8 s e o &0
(A) M (B) fmy
© (D) ==

Uttar Pradesh has recently bagged
mwards in 2023 for its execition of
PMIAY in which sector 7

(A) Industries (B} Education
(CY  Agriculture (1)) Healtheare

FATEAT 201 | F HFEW, I a9 7 =

oo e = 7

What i& the overll sewratio of Uttar |

Pradesh State, acconling to Census 2001 7
(A) 982 (B) 512
€y 812 (D) 892

e e = 46, W AE W

Prafftm A& R i A Rmd
Ay #t (B) ®E
€y st (D) W

The famous UNESCO site Bordeaux,
Port of Moon is situated in which of the

ollowing country 7
(A)  China (B) Frnce
(C) CosaRica (D) Austrin

B

Prafafan § & fea fafm =a =1 faE
st Tk -aE T e 3w an 6
e fRafod] = Fare 23 % fon el 2w
o9 % w0 A e e o

(A) TR (B) wH=iams
(C) TATES (D) sohus

Which of the following special force is
mandated ns the elite agile force to
respind to hijacking and similar sccurity
situations on aireraft and airparts 7

{A) NIA (B) CBl

(C) NSG (D) RPF
FrfefEn i & e hma s 4
(A) W ()

") e

(C) s

D) St

I'he Boad of Revenue, Unar Pradesh
was  estublished in which of the
following districts 7
(A) Allahabad (Prayagraj)
(B} Meerut
(C) Lakhimpur
(D} Varanast
Hffg 79 5184 (1L0) 3 9 0 w
A Fem o 38w w0 % B
HEYTE Fan AW W 9 EE
Wi feu 2002 8 " 1w § e famm
T ) T R | v T e
Ty famm form vt ) e e 22
(&) 7 7m= (B) 5
© 127 D) 1=
The International Labour Organization
{ILO) launched the World Day against
Child Labour in 2002 10 focus sttention
on the global extem of child Ishour and
the action and efforts needed 1o eliminate
it. Each year on which dste Warld Day
against Child Labour is observed ?
(A) 7% Augest (B) 5% July
(C) 12% June (D) 1% May
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D) ®Yw fin

= ey | gE W

R (B) AT

(123} m

104, Frms e st o ged Praffiye 8 @
ST T |

I 108, °
| (A) AR
(€)=

[ 1oe, B

(B) ST =T

5\t B A
St S THE 7
(A) 9 (BY 10 (€ 11 ‘@) 13
(108, Fiferfir 4
i) WENFTAH AR 7

tay Foresr ()

(cy = (0 = ﬁ
7w w1 - st A g

w1 ot e

H EEETEE WA &

3=+‘T' B F+x

D) 59 + 1

= 8 S T fav Ty &

(B) o (cy md (ny =
S TR e A 0 Tl o i
A BT

(B)  #whm
(D) mrefim]

q (B) =it

(C] HEE (D) g
et ﬂ"mw‘iﬁ’mmﬂﬁﬁw
_“_,,.rs H II\II‘.'\

FEF, B~ AT, Wmﬂl:ﬁ:mﬁ
wt s @M | T, E, e e s
ﬁ!IT’:LWTmNFF‘WWmmg

3= W | 0 W w5 ) e

T % T ﬂf‘ﬁa‘imﬂmﬁﬁqmm
neT W R T W S st
e EE =T & 3 S S e o
zwﬂﬁdwﬂpﬂaﬂiﬁﬁiﬁiﬁim
yu;!::m:hFr!m'nRﬂmm

V16, SR e o Tere e G e #m

(A) HTHT (B) =M

oy FaRw (13]]

117. HTe W = | i

s Frm & m e S A fem A

Fafers v &

(A) 2Fr = w0 e A T 8
s s smEm £
¥ w4 7n fafs e % =
e e e # fi
’[ = A BH 08 WT-FFF';[

/ afes se memwa f |

s e # w9 g A A e
Fanafeim e wmEm i

118, e TRl e fsm Fe R A g wm &

=0 i

(A] 3TV (B =i s

(C) =i (D) #eE

s s e 4e fes fe-Tawe &

" zzEm

(A1 fifErs (B} giEmEES

=T =01

r,‘s:a'ﬁ'msmmqan‘kaan
rr':q il =8 71 & 7 T H

A1 5, afew speayl el R 5 S o ::E
T S AR W e |

13, l_q'Fhw F BT A & w5
e R
(A) e. w,aamd%tgruﬂqd a9
= |
S AT T W) R,
T afea e v |
TTE] T e A |
T S ST e 8 W
114, T e witem |
(A) s = e (8) FE-d
(C) -2 (D) = A A
‘wdel § o e
(A) mwmmwgzmﬁ’ﬂﬁm
(B) wmwAHE MAE
(C) %8 =t 5 @) el 178 s
(D) mmmmnl’!ﬁﬁ'l’ém

() wEETEs (D)

120, T ae W v e A wm R

(A) = (B e
(©) i Dy =

2L gei-ge At fonds o s o
iz e d A s A R 0
(&) seo-fAm (B) me-vime
(€) Fm-sw (D) @9-Fem
122, W ST W e A e
W, e W e i |
(A) I By wwen
C) & o) W
123, ‘e’ 5 Tt e g 0
() SifE (B) SeEmE
C) drEEm (D) wTmg
124, ‘o 55 5w fefefm A swn 2
(A) Hrza (B) FumEEm
(D) wm




(€1 12 (D) 40

129, w23 A8
{4} T;r:'mlp!-g_ds?!ﬁ‘
(B) & 3urs s
(cy

actosy
! inres pime factory
(D) Four prime faciors

Siemplity
A o
15 15m
e,

181, sifudar, farer ofin feesrg miaT ° it

g & | orfires, for & f0 830
sfirs; Fib wrm @ i farm, o g
ik Ty 203 P o @ I TE

vinmay. imvests. At the
end af the vear, the profit =..|nwd “JS
T 5.500. What is the share of Chinmay 7
[A) £2,500 (B) T1000
(), 3000 (1 ¥ 1500
W ST U S R 24% S 0
B | % 3 T 2090 w5 o wiE d et
V¥ 12,60 W § iy, FOOE 300 W
T AT | W A A A A |
A man sells an mrigle o o profit of 25%.
Ifhe had bought it at 20% less and sold it
fior ® 1260 Jess, he would have gaired
30%. Find the cost price of the article,
(AY T 60 (B) €35 (C)T 45 D) TS0

it s Jom % & ¢ 1901 W e
i, 7 a9 ¥ wrg fifee o i, o
5 272 1T B T R, w4
=) T 7w e b R
Tom e 0

Divide T 1301 between Mair and
Diptesh, s> that the amount’ of Mihir
after 7 yeurs is equal 1o the amount of
Diptesh afier 9 yours, the interest heing
compounded ot 4% per snnum, What i
part of Mihir 7

(A) T676 (B) tas3

C) Téls D) Te20

134,

. T I % o f B

. A FeE § & A, g 2

‘Ramesh, they finist it in 3 days; Find the
“shareof Shyam,

35 F i e e o
How many ter
1520, 25;
(A) 26 (B)

a3 o) 24

= there betwecn
7

LUE R I e R

# |77 ) g i
A v s m the

sides in the mtio 2

is 600 m, Find the be

(Al 50m

{C] 10m (> 2

T HTg R e 000 e < 5

30 Fhs 7 wa wm & | At s
e Aafs e o

A cyclist covers s distance of 500 m in
2 min 30 sce, What is the & tn lamvhr

(B) 1E6
) 216

Al 7 ot dy TR | o A e )
ST 66 #, M Hw W e |
O the three numbces, second s twice the
first and is also thrice the thind. If the
average of the three numbers is 86, find
the smallest number.

(A) 24 (B) 72 (Cy 36 I 54
AT SR 2 800 3 Fr v e ey
| N 3R 6 T A e
TS FUH S 8 T A wwmmm d
T R |, 393 Tl gy w4
bLLER R e
Mohin and Shyam . undertuke 1o do a
pieve of work for T 800 Mohan alone
ean do-t in 6 days wh Shyam alone
can do ¥ oin B days. With e help of

(A) Ti75 (B) T325

HE T
Q. Nos. 139 1o 14

(€} 2250 (D) T 300

A1 H 140

a1l s

{1000}
T |]

pproxi
er-af qualific 0
number appeared . candidares
G | the five states in 2003 is
(A]1B% (B) 16% (C) 12% (D) 15%

. 2001 imﬁt]mnﬁ‘rnjm};amé!?a

HIS, 2002 T /] T # i edean
T 0 w1 A e e
Toml number of candidates qualified
from all the states in 200 is
aprroximately  what percentuge of the
fotal number of candidmes qualificd from
all the states together in 2002 1

LA) 82% (B) 80% (C)71% (D) 7%

- R A & A D A iR gy

St Jeilean ) st w0

d i lbe-awrge of candidaies who
D during the given yeary 7
(B) E?Hﬂ
{
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T married nor

who five in

L1
Which of the Rllowig disgams best
indicate  the  ‘reltion between
Intelligence, Anviety and Strength 7

© -
(A3 | \-(_;«/I (B) /I:} '
(€} @ [153] ,-Q -,
AN
B i e R

i

4 ft T wR A
._‘.rlrﬁrﬁnv__h?'&%"-lmww

e, 6 =

AT T | 6 A | Frft o
e T (4 e g ) A Frnf R

m
e =7e 3 E o7 A it W ¥ famm
w0 71 feEra 5 I

A cuboid shaped wooden block has 6 em
cm breadth and 1 em height,
Two fiices memsuring & cm x 1 em are
eoloured in black: Twe faccs measuring
| em-are coloured in red. Two

length

6 em
ficasuring 6 cm o« 4 cm are
green. The block is divided
I cubas of side | em (from
), 4 equal cubes of side 1 em

faces

coloured i

& cm si
{from 4 cm side

How mamy cubes will remain if the
cubes having black and green coloured
wre pémoved ?

(A) 16 (B 12

©) 4 (D &

freifsfian v #, vk T fran R,
T e o7 7 fon o H, B A
oo Fau T W % e ) T sk TE
T 7 ) & HE A e |

In the following question, & word has
been given, followed by four other
words, oie of which canhot be formed

using the letters of the given word. Find
that weord,
AFPLICATION

(A] POLONLA (B
(€] ANTIC

OPTICAL
(D} POINT

. o o T

o

e & O W ey e
=ifra w5 701 | 98 P faaon
ot

. wEIAMERER

HIE 719 WETARTME |

3. A S 9EE S W Ak

4, TR 3 T A 5 SR
3w, 7 Tt Fm e e,
e W & T s doie s
ottt fom & | I o = |
enthusiast is

A puzele tying to

remember 1 code to unlock a mysterious
box. He recalls the following details :

1 The code stans with 3.

2. The ende ends with 729

3. The second digit is twice the first

digit.

4. The third digit is half of the second
digit.

Now, considering these conditions, the

enthusizst has narrowed

potential codes for the mystarious box.

Find the suitable one.
363729 (B) 341729
(D) 3729

(A)
(C) 336729

e T I T R e w (40,

down  four

<+ w8 AR e s w=r af

i 21

repetee = BB

oA

1 Titzare AR 3 S et farll |

1. e i O Hatem T
L

1. A T AR
wm )

Foreed :

1. wesAw ¥ 3 s gete
e fari § )

I

T wh s A F s =
e T |

(A) qn.iﬁ5=@llmm#|
@) 13 1ZE sEm s E |

(C) e e [ s R

(D) S Pl 11 e wem & |

In the queshion below three statements
followed by two conclusions numbered 1
and 11 are given. You have 1o mssume
everything in the stafements to be true,

then

consider the two conclasions

together and decide whish of them
logically follows beyopd = reasonable
doubt from the information given in the
slatemments,

ST ——— e RS S
11

Statements :

Rebindranath Tagore wrote many
poems.

1. Every poet Thas asethetic
knowledze.

HI.  Assthetic is a part of axislogical
study,

Conclusions

1 Rabindranath Tagore did different

axiological study.

I. He followed fhe base of logic and

ethics.
(A) Weither 1 nor 1T follows,
(B)  Both Land Il follow,
(C) Only conclusion 1 follows
(D) Only conclusion 11 follows.

GL-4




21
T & ot werm
fiedt =9 2,
7 il = B, fiRr
wa'vrzrﬂ

moves from heme position |

.Iis west tn & km, then mrns rizht

aguin fums right

ain turns right
far that person

) 124am
(D) 23 km
= nE-gw fam
i
e | s W el col Serr
TE G |
i G
(A) S wiEs (B) #0: sl
(C) T . § (D) A
In the helow Biven question, s pair of
words s gver, fullowed by four was of
words a3 alternatives, Yol are required

10 chooss the puir in which tie Words
have the wme refationship,

Glend : Enryme

(A) Brain : Conex

(B} Orgen : Kidney

{Cy Muscle : Spasm

(D) Generator : Current

BGEK. : AGDJ : : DEHI (T
(A) CAGH (B) HGCB
(&) CBGH } EC

b ey o

ﬁf::--rww-rﬂwmr-urmm:
10, 11 s 1y wwien = i
3151 1 S BT T 6 HE w6
& /8 afn T AnE R
;;Ti;, a’iﬂ'{.ﬂmﬂ_ﬁ(‘ﬂ(!
Firsieea] & & aage a1
il m|44u—|;§1—3’uwhﬂ1
a:ﬁnzfnr i w2 el =R 7
k.

L | R e i T
SR T T H e e
I | e e AR
T e A
. =¥ | e g g e = fif
2
IV & | gEn ol T aig A
(A) #FERUsMIVIE R E&
(B) W9 130w |
(C) am v s 2 |
(Dy ey I &
Question given below consists of a
stlement, followed by four arguments
numhbered |, 11, [l and IV, You have 1o
decide which of the arguments isure

‘strong’ argument(s) and which isare

‘weak' argument(s) and sccordingly

choose your answer from the sltematives

given below the question

Statement : Should education be made

compulsory tor ull children Lrpm the age

of 14 years 7

Arguments : ]

L Yes: This will help to ersdieate the
system of forced employment of
these children.

Yes, This isan effective way 16 mike
the eatire pogulation educaiet!
No, We do not have sdequate
infrastructure to educate the entire
population. o
Yes. Thie would inceepse  the
standard of living.
Only Il and IV are strong,
Only | and Il are SEONE.

Iy IV is sirong,

(o) Onl)':llu ﬂrung

i f e g o o e S0 3R
Jaﬂ‘lilwmﬁwwummzrrmnm
e 3 Beifefem arme o fe
we kol Foln B R B owm oW
aren(d) F9E § mH“za 28

WU ;U I AT AT A 4§
wie foren T (SEe i o e
L) - vgdy 3 - T A s
A & i & |

%WWE|

arg A 4 % oft i i 7 @
difed & |
(A) amlaﬁlwﬂuaﬂaﬁﬁah
{B)
<)
(D) 7
In: the question below a2 statement
ol d by two I ered
and 11 is given. You have to consider the
statement and the following psaumptions
and decide which of the assumption/s)
is/are implicitin the statement,
Statement : "Do not enter - avoid the
risk of getting infected with the ABC
disesse™ — Wrillen oulside the quarsntine

wird no, 4 (meantonly for ABC disease) |

of & nospital.
Assumptions |
. Diseese “ABC” is contagious,
All the patients in ward no. 4 suffer
from disease ABC.
Meither 1 nor 11 1s implicit
Both T and 11 are implicit.
Only assumption is implicit.
Only assumption Il is implicit.
¥R T8 11 Pl wmd =
e -ﬁﬁmzva ikt hn’qmsmaﬁv
e T A1 3 W o e AR SEATLE |
SR Wl -

(a) W0 W T 600 FH A g
AT § = |

by 1 e, m_\ﬁmmamu i h
Sftrae 25 =9 w1 BN |

(t) wﬂamsﬁvwnmwﬂm
I BT =i |

() tsu.nﬂﬂﬁmnﬁlgﬂ?ﬁﬂm
T =, o sl
et |

ety o ane] T Sei WAEE
Tna—-ﬂi e

1‘1"1-—1....\11 W WA S S wiw
S 9w \iE Wy 6 S

TR 65% 3 WIH =4 5= 8, I
e e T RR O
S A |

- Rl vl t '".mxl'{ T

w"mm’.m‘l—ui T W
TR % faan o e e e |
weE wH 4, e & fan
n* S e e £ S B ) s
WA A (i) we) b o e wes
v (wfEl) H Smm 9
Eo il ﬁfaama'ﬂ? |
Traferiian T WI9 4 92 e o e
sredt 3w # e o T A B e e
(P vt | 18, 2006 ) #rive e |
Q. Nes, T to 11 : Study the following
infrmation carefully and angwer the questions

E;ucn ow

pllowing are the gqualifications for post in a
reputed company,

The candidate must-

{a) 'be an Engincerm, duate with at |east
o0 matkey

(h) be rml lees thin 21 years and not mare

3 years of 3
sed the selection test with ot
east 53% miarks.

(d) be \v\-I]JITu,‘ 1o pey & depositof T 50,000,
o be refunds mcumFIEuun of lmmmt.,

However, (il a condidate Tulfills the ahove
mentioned oriteria, except :

L Atfs)above, but has appeared for the last
semester examination and has obtained
an gggregate of minimum 65%. marks in
first seven semesters, histher case may be
refermed fo the President of the company.

At (d) sbove, but 18 willing to pay an
smount of ot Jeast T 25,000 and has
ed at |east 709 marks »t Engineering
degree, the case may be referred 1o the
General Manager of the compan:

In euch of the following questions, details of

d\t candidite &re given az re; hsher
idature, You have to =ad the information

pmwd:s.l and decide his'her stitus based on the
ibons  mven above aad the inform lul|

F"“‘“:m'| ou are nol to me anything

ather then the information E-mwla. in gach of
the following questions. All these cases are
given o youas on 1" Mm, 006

A P T P s 5 A PSR s W1 = 4. e i

GIL-4




on
REASONING

which closely |47,
ge of the given |

(A} DHTAOSATR (B) THAZOMIAD

(C} HEVEDATAT

Find out
and (4) ¢

i) ONIFOZARA

g FE 3 WHE =fq el |7
i
Tty =y & | Fw T T
wayerfter foray wmn 8 |
s torer of apples n A
e aclded later: Ten
are remmved. The
trangferre ally it tHo
+ure there in each ?
(B) |38
(D) 89
b, T Y s Sl 6 e 30 I =
1 | T e 4 T R
w1 fat T 78] AL A

minego for avern
IF 3 out of every 4 bruised mangoes are

arnd there mre 12

(A 480

{C) 240 (D) 320
TeffEn 4 a5F 7 Weee AW fEn m
Y o w7

CWE 29 3 v 4, P

hof the following option would be

meaningful order of the following words 7

L Bin 2, Denth 3. Funeral

4. Murrisge 5. Education

(AY 4,5, (B) 2

(C] ]

T AHA T = A A R
Choose the figure which is different from
the rest

Freifefaa 4 3 W f st wl |
Frarer 6 5 B ST o B
(A) NfEm (@) 2swEm
(C) 16 FTEH (D) 1=

h of the following days is celebrated
s “International Warkers' L]
{A) 31™ December fl'!? 25 November
(C) 16% August (D) o Miy
Prafafas & 8 %5 T e 3 die
i
(A) sERTRE () i o
(€) Uifew ufts (D) A vfee |
Which of the following Aeid is fresent
in Spitiach 7

(A) Oxale Acid (B) Citde Acid |
(C) AceticAgid (D) Lactic Acid

lss
et e PP Gt A8 fem |

ferra w8 Ffust o fear l
YRR ]

“Soldierimg with Digniry™ ie the nsvel
writien on which of the following Indian
Miliary Smlwart 7

(A} PVC Capt, Vikram Bara

(B) Field Marshal K.M. Coriappa

(C) CDS Bipin Rawat

(D) Field Marshal Sam Manckshaw
s HfENE & A, s 141
Frfeften # & fom it wefim 19
(A) FiTemEs 3w 5 sin

(B) ¥ & foreg sifimm

(C) o 5} w1 st

(D) w1 s

According (o0 Indisn  Constitution,
Articles 14-18 deals with which of the
following rights *

(A)  Right to Constitulional Remedics
(B)  Right agaist Exploitation

(€} Right to Freedom of Religion

(D} Right vo Equalit

D) Mi

ST I S (7w i)
Frefaiem 8 8w fam § o

(A} oS (B) W

(c) e (D)

The Physical Ressarch Laboratory (Main

Campus) is situsted m which of the
following places ?

{A} Mysuru (B} Ahmedanad
(€] Bengaliru (D} Pune
3 W B A T (e
o, ek dur wm R 0

What is fae comtact number for Women
Power Line (WPL) in Uttar Pradash 7

LA} 1048 {B) 114

{Cl 1080 (o) 108

rEEEE a8 Gy
REERE s B

(A) e (B) wzs

(€) =7Em () oy
“Mumallspuram Utsav* is a festival of
which of the following states?

(A) Gujarst (B) Kemataka

(C) Odisha {D}  Tamil Nadu
it Ft e Fawrs 8 o S
= ¥ o fremw s o w
T AT % e 0 4 s s
& S s A

(A) wEmfE

(B) =it qEa] &) dares

(0) SIS el wwe = o

() A T

The responsibility of the regulstory and
administrative framework for comporales
i order 1w maoke them effective
contributors to  national developmen

falls under which of the following

Ministry of India 7

IA) Ministry of Co-operation

(B} Ministry of Corpornte Affiirs

(€} Ministry of Housing and Urban

Affairs

try of Planning
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(D) and rupport with |
prevent problems | (3
13,
) T t‘—\
o TEE W T v b T e e |
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As 4 police officer, you ire invelved in a o
eriminal v ion. Which of LAY
following i "
tha have to sy | ©
comple Find
(A)
(B) | Russ
(C} First Information Repart (A)
(D) Charge Shee (C)
i e e Y

Ty st W ?
] A w5 i e § | AT
(A) wratfeam sram & i forw B

(A) i el
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T T it w0 H, W9 AR
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e i ) Frges e i |
() & A=
firary & fory s dam (=)
st i |
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Exiic il
) T 1wt 3 AT FE At
cendin  groups
1 [aws upholding
traditional
f uld
wmen rights commissions
ENgAgIng represeniatives
community.  interactions
harmonizing religious doctrines.
lead loealized awureness
campaigns empowering inclusive
lifestyles
make preventive arrests of radical
fringe  elements
violence

8 police off
mand amendments
BT s against
B10us seny

dep

din

wuble

threatening

|25, ISR (7) F T I R wr |

U 3| -
gl (B) & E
Lo {0 wW.pC
suitable alternative in place of

Yuestion mark (7).

ia : Moscow : ; Greece ; (7)
Tokyo (B]  London
Athens (D

27,

o

AT 6 T (H)

() sps

s FiFET 2 9 cRoman- =t

“IFDAE" % B9 7o) A & 1 351 &

SWATER" 1 %8 fevan amm o

Ina certain code language, “ROMAN™ {5

wrtten a5 “IFDAE". oo wailild

“WATER" be written in thut coge 9

(A) AEBEI ABY IFAFR

(Ci EABEI (D) EfBAE 31,

v =5 T8 9H qu\ffi\n‘ﬁaw:-[gr

fowe e & a8t ot <t &, o &

ZrigEa 3 11 Fﬂﬁ!ﬂﬂmg,fhﬂ\im{

e # 3N s Bl e g o i

mem & 3 | i mom b | o

wd e gfimd 2

2 felt
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A person moves from home position

towards: enst by 10 kin, then tumg right

and moves hy 5 km, again tums right and

moves by 11 km, pgain trss right and

moves by 5 km, sgam tums lefi and

moves by | km. How far that persan is

from home position 7

{A) 6Gkm (B) 2km

(C) 15 km (D) 16km

Frfeftan we % w7 fed i £ | 2

s =i orEw o g e #

! T A fm ) e d

(A) & B =

©) = 07

In following question, some words are

given. They have some common features

except the odd one. You are required to

find the odd one out.

(A) Bow (H) Stern

(C) Deck (D) Quay

fw my, fermet & & 0 el frmse o 0

"R 0w |

Choose the cormrect aliernative from the

Riven that will complete the series.

1000, 759, 618, 543, 514,7)

(A) 304 |y 507 |
(o) 02

e R (roon) 5w o= i # )
5w 20 firse w, 0 gt e i

A clock is started atnoon. By 20 minutes
past 5, the hour hand has tumed through
(Ax 1607 (B) 1s5%
{Cy 1452 (D) 1507

st w4, % vadie om ST R
izm,mzﬁ'rqf%‘i"ﬁﬁ%m‘h’@
qEE TS =W R R | e e HiET
e B, Foes aemfi a5 92 s
ST T 2 | T ST I s
1T 81T # A I 3 = E | e i
ATEA & WIE 1 ’.t‘ﬁ-?_f‘
(&) sftar (B W
(&r” s D) ¥
Amang her children, Ganga's Tavourites
are Ram mnd Rekha Rekha is the mother
of Sharad, who is loved most by his
uncle Mithun. The head of the fmily is
Ram Lal,-who is succeeded by his sons
Gopal and Mohar. Gopal and G
have been married for 35 vears and have

3 children How o Mihun related 1o
Mohan 7

(A} Nephew (B)  Brother

{C) Uncle (D) Son

i “SOUVENIR” ¥% % wedl, i,
Tisa AR S s s T
BT St 15 T R (R
a9 T = I e w2 A R
o e e T EEA R 0

LAY T st m) 3
€y 1 m 2
If & meamingful English word has 10 be
formed using 1", 3, $% and 8% |eyers of
the word, (each letler to be used ance
only) “SOUVENIR", then how fany
such words can be formed 7
(A) morethan3  (B)
© 1 (D)

(VR
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(A) W itferdz = s A |

(B) HEEEES F 997 F |

(C) = fimm = |

(D) e g7 e = |

Diptssh tos sppeared for the  [ast
semester of engineering degree exam and
i hoping 10 score mt leas 80%. His
sgcgetc  score  upto  first  seven
semesters i T5%. He has just complutad
41 years of age. He hat scored 66%
marks in the selection test and is ready 1o
Py én amount of ¥ 50,000 35 deposit

(A} To be meferned 1o Company President,
(B} To be refermed to General Manager,
IC) Tobesclecied

(D) Not 1o be selected

o % 9, 20059 7
Witme st f; f"rrt S
=07 ey o ke g6, 1 - 0
il a5 e e e | 3 T 24
3, 1983 § (== 7 50,000 & 1 Rt 4
7o #, Afew o & w4 7 130,000 W
S[FTAI S 6 s |
(A) Zz Iaia R |
(1) ETER ) A =
(C) e Py e |
(1) = T ) A | .,
Shreva  has | passed out - Chemical
Engneering Degree in June, 2005 with
79% morks. She appered for the
selection test which she cleared with
70% marks. Her date of birth 15 25" June
1983, She i¢ not in & position to piy
T 50,000 but will srange 1o pay T 30,000
a3 deposit
Data inadequate.
Tar he referred to General Manager
To be selected.
Not 1o be selecred
e Afame gt €1 sifie di
it it gan § it it ) sdten
2 | 399 wre = w8 8 R § e
wfl it < e ge B A 22 A R
W 0 61 B )38 T 50000 W
it ré e s e we H a aeen
e # | 9 58% ] & A 5w aie
el ) & §
(A) B sy
(B) =t FitnEe w5 v e |
(C) = famm wmamy |
(D) RN &1 T e |
Shyam has appeared for the last semester
examimation of Mechanizal Engincering
and the results arc awaited. He seoured
first closs in each of the first seven
semesters, He has recently completed 22
years of age. He las ne problem n
paying the required amount of ¥ 50,000
s deposit, He has passed the selection
Test with S8% marks.
(A} Data inadequuie,
(B) Ta be referred 1o Company Preaident
(€} To be selected
ferred

(D) Tab

e W TR T 8, S g3
# 91w ) 30 A A et wfnn
1 | 3a ) AT ¥ 76% 3% iy

et stz W e
TR F1 S A |
e foan oy |
A AR TSRt A |
Niluy 18 on Electrical Engiscer, who
possed eut his’ degree exam i 3003 g
the age of 21 years. He abfained 750
miarks at degree exam end 72% murks i
the selection leal He &m pay the amount
of T 50,000 as deposit,
(A] Tobe refemed to Company President
: (B] Tobe refered 1o General Mariager
(C] Tobe selected
{I3] 'Notto be selected
s s gt sl F w9 d
e it fom 9 s f st e
# & e 23 w4 5 g &
W T T R | SRS R %
ST, S
ferer =5 i ferems = s a5
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You are stationed as 1 police officer; 2
distressed father approaches you saying
his 23 vear old daughter has eloped with
her boyfriend. As per Supreme Court
directives, you should : i
(Al refer complaint to villoge council
for settlement. E:
(B} arsest the boyfriend on charges of
enticement.
(C) file & kidriapping case and
investigate.

(D) support  reconciliation  Without
criminal charge if consensual.

b ' g e .t S VAT At B AT 0 . e i £ o mm e
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You are stationsd as a police officer;

agitsted labour unions threaten to stop

essentinl services over wage disputes

with menagement. You should :

(A] impose fines and charges for
illegal strike notion E

(B) forcihly stop atempts to block
critical infrasmructure.

(C] arrest union lesders immediately
for disruption threats.

(D) asske dispute resolution dinlogue
between sinkehalders.

T U e wuw % = A A K

I Seed Wieh § IEE W

TN S "iEE T R M- £

A1z i w8 giva weel e koo
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(A sfrmad ¥ omgem R ww
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ST WS ARG |

(C) =T =W HA () S HiE
AT FET7 A1 S8 |
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wer % T weme ol i |

You are stationed #5 a police officer;

you receive intellipence of an inter

religious couple facing harmssment

threats from fringe outfits. You should ;

(A} refer them 10 protection officers
s per procedures,

(B} suggest their voluniary physical
separation, e

(€) provide security cover and sg

X TrEnsit :'fnh: cgu le, s et

(D) counsel the eouple 1 avai 1
irﬂera:lii.‘nﬁ. bS Ve puh'ln:

e
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o Wi
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tA) 100 & 1000 & 2000
() 20 a0 () 1000 & 500

I WU W, HiEa 9 HEe =

(B} FUTTHE
(1) R
adesh, where is the Cyber
uarters focated 7
(A) Meerul (R} Prayagai
(€1 Kanpir (1) Lucknow
HTIFET 1 A9 £
(A) BT Tl
5 UE HET o
HTo7 # fa
TR HST

vemment Sales Tex
Groods and Services Tax
Goodsand Sales Tax
mment Service Tax
TS A CH A weEeE § oum
fe, @ A s 1 s2sd
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(A) 9T (B)
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The Prime Minister participated in Sant
Mirabai  Janmotsav, a progam (o
celebrate the 525" binh anniversary of
Sant Mimbaiin - .

(A} Mathura (H)  Dwarka

(C)  Rishikesh (D) Kurki
Fr=ffan & 8 Fee 220 % 2024 § T
5 T i 89 A T

(A) o (B) FHE

() (D) &4

Which uf the following country refused

11he BRICS group in 2024 7
Iran (B)  Argenting

(C) India (D) Russia

82.

L e g A BT TR

e A T TR R fm g |83, e 0, S 3 e & & e e

sy FTATR 7

A) BT (B)

(C) 2¥wH ) 3

The “Rashiriva Ekts Diwes™ celehrated
ori which date in Indig 7

(A) 26" Jonuary (B) 14% November
() 2" October (@) 31® October
frefefeg ® R o sfg A W
T HHEF A E W A

(A) FIET W=

(B) T ! e

) I ‘
(D) ErEE =

Which of the following famous suthar is
known as “Upanyas Samrar™ 7

(A) Harivansh Ral Bachchan

(B) Suryakant Tripathi “Nirala®

(C)  Munshi Premehand

(D) Makhanlal Chaturvedi

BT B A, T S 7 G e

R4,

v F2m, W W weE g e ol wohd
w2 NICC (i) # w7 fawn § 2

(A) FHTTE (8) % fereht

(c) wEmy D) i
Recently, The Prims Minister insugurated
Indin's largest convention and exhibiticn
centre [ICC (Yashebhoomi) is located at
which of the following places 7

(A) Varanasi (B} New Delhi
(C) Chandigarth (D) Faridabad
Pefstmia s mym idm =
mErE TR 7

(A)  Trgea i From g

(B) W

(Cy ==

(D) =T =w

Which of the following is the highest
honour for Police in India 7

(A} President’s Police Callantry Award
(B) Padma Shri

(C) Param Vir Chakra

(D) Mahsvir Chakra

Fafln o S W T g 2027 (85, Hhm i Geeh § om P S,

et ?
£ (A) B @) A

(C) Tl (D) #=fi
Recently, Chirag Chandenshekhar Shetty
won Major Dhyan Chand Khel Ratra
Award 2023 belongs to wiich sport 7

(A) Cricket (B) Archery

(C) Wrestiing (D) Badmimton
Farafiefiam i = e 1 ot £ 1
(A) #== (B) T

(C) = (D} T
Which of the follawing is the capital of
Philippines ?
(A) Bangkok
(C) Jokara

(B} Manilh
D) Kuals Lumpur

Y&, & 79 8 T A 6, W AW eEE.
= fmmn
Hay (B) g
€y T==m (D) fami
In the social media network formerly
known as Facebook, Tne. was renamed to

(A) Men (B} Orln
(€} Twilter (D) Bing!
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What is the name of the lander of
Chandrayasn 3 7

(A} Vigyaan (B) Aditva

(C) Vikram (D) Pragyean
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